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— WIR NWNR 21272 7Y 192
And one is liable for her as a married woman

OVERVIEW

The mwn (in 771) teaches us various rules that apply to a mvp who is three
years old (or older). She can be 1X°22 nwmpPn, a 02’ is (also) 7P her with
1X*2, one who has illicit relations with her is liable as an w°X nwx and (lastly)
any of the My who have relations with her are to be put to death. There
seems to be a redundancy here; if we are told that 77> %¥ Pnmn nva 92,
then it follows that X"X 21wn 1%y 1°2°°1. Our M9oIN discusses this issue.

— PYITP HYANR N3 Y25 BN DIVNPN YN
>'"w9 explained that she is a married woman (and therefore one is liable on
account of her status) if her father received 217> on her behalf.

mbdon challenges s""vA interpretation:”
— YN NYUN DIVN NP9Y 129N TPI0N INDN MINN v»

And one wonders; why is it necessary for the 71wn to state 79y 172"m

RN 2N -
— N7 DY YNNI NNNAY NYIYN YN THN NYDY XA ON NOYD NP XM

For the 82°% of this 71wn states; ‘if one of the n1" Y mentioned in the 7910

was 7°9p X2 they will be put to death on account of her’ -
— (%09 97 P11mIL) TN 9D 12 999 NNTS 29993 WIN NUN)

And an R"N is included in the 72w N7y [in this 71w»] as is evident in

ST7Y 9710 32 POD -
—*199) NYPNT RNYAYA (3,m ow) THITPN 71 D9 RIPNTI NN 199N

! p2m A"72. It seems that w1 is (also) addressing this issue and explains that the novelty is that if the
father received 703 *v17°p (or 70w) [before she was a 's n2] she is also considered an "X (and not only by
18" W17°P), however there is no X"X 211 until she is a '3 n2. See 71"1XR footnote # 220.

* It is evident from *"w7 that X"X DWwn 799 1M is not referring to 02> 779y Xa.

3 moon rejects a possible answer. Perhaps the statement of n»yi %3 refers only to those mx»a that are with
forbidden relatives but does not include the X"X 710°X. N1201n negates this.

* The x7m3 there cites the end of this 73wn that N1y 2% 121 X2 oX) and asks why should he be killed maybe
she will become an n>117°X and the 1@17°p are not 090 (so she is not an WX Nwx); indicating that we are
discussing the n1™y of R"X. [See later in this nM»oN.]

> The 71w in X,73 177730 states that by an act of bestiality the animal is killed for two reasons. She caused a
2PN (a stumbling) to the person (he sinned on account of the 7n72); and secondly because of 177 (shame)
people will say that person was stoned because of this animal. The X713 there cites the end of this m1wn
which states "1 N1 o TR Y K2 ORY and says 7172 129X indicating that a 7173 is included in ny.
Therefore moo1n asks if 7772 is considered N1y then certainly X"X should be considered n1"y.

1

TosfosInEnglish.com



27m A" 'O R, PR L7"'02

Even relationships with an animal is included in the term N7y as is

mentioned in NN '7 pap in the X232 of 1P 79PN, The question on *"wA is if
the father was WP 92pn, why mention that X" 2wn 3% pa»n if it is already
mentioned in the ¥9°07?!

mooIn offers his explanation of R"R QWwn 7Y 1P2»m:
— NP D2 NYYY N2 ONN INPT PNYY 199299 NI

And it is the view of the >''2 that X"X Dywn 7%y P2>m is referring to the

previous ruling that ‘if her 22> was 7°%¥ X2 he acquires her’ as his wife, to the
extent that X"X DwWwn 79y 1270 -
— NN GN 79Y 122990 999) 1239 NANPT D YIYN NP

And the 71wn teaches us that the 02° acquires her with a complete ip of

MY X and one is 2917 even XN TH for having relations with her -
—19294112 NN N3 N9T NN PNYT NPYOT

For we may have assumed and said that he acquires her only j1297»
— 99753 79N /0 13 NG IUY (x,n0 97 mna) IINTI

As the X1 states ‘they made the ;%°3 of a nine year old 02° with his 12
as if it were a "%K» by an adult 02>, where he is 7117 only 112777 -

— 107 NYUNRY 099 FYIN NUNR NN NI TUNRN (00 41 179992 J0PY 1Y POVINT
For we exclude this case from 1n°» 211 later in this P99 from the 105 of

RON NN NN ORI WK UOX), this excludes that wife of a JuP, that if someone is
73t with an vp DWR there is no 7in°» 21°1, therefore we may think that -
— Y5 yawn NP Y112 9IRND NIVD NG NYY) 1) XN

Here too when the 02> was mvpi %y X2 we should consider this 7upa 7892

as a 17aa R and there should be no 110 20, therefore the 7awn teaches
us that if a 02 is 7IVPR Y K2 you are K"K QWA 7°HY P

In summation MaoIn explains that the phrase of W°X nwX Dwn 7°%¥ Pa>»m is connected to
the phrase immediately preceding it; 71p 02’ %Y X2 OR), teaching us that if a D2° is %y X2
7wpPn anyone who is 7311 with this 710p is 7in° 27117 since she is considered an X'"X.

® mpoIn explains why we might have thought otherwise that it is not a Xn»&Ta 173p.

7 7707 2 a 02 acquires the 72 as his wife only through 7X°2 (there is no 1°011°X). However the onon
instituted that before the 7%*2 there should be a 101X 732 (through 7> or 7ww). This 1P is valid only
112971 (so that no other brother can be 021 her, etc.); however Xn*7IR774 she is not an WX NWK.

8 0,0 (@WTR) ROPM.

? One may think that just as by a 792’7 9 X277 "0 12 there is no XN™IXT» MWK since one of the participants is
a minor (so we cannot have a valid 1°Ip), similarly if a 9173 is 71vpn 9y X3 there should also be no 717
XN™MX7M since one of the participants is a minor. [It is not comparable to m1vp *W17°p because there the
father is 92pn the 1w17p. See X"w1n.] The mawn teaches us otherwise.

' The reason for the difference; a 7P cannot acquire (therefore 1nn2° Yy X3 'v J2 is AN only 133777),
however a 71up can be acquired, therefore a '3 n2 %Y X271 7173 02° he is A1 her XN»>MNRTN.
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mooIn asks on his explanation that X"X Dwwn 9y Pa>m is referring to 02 %Y X2 OXY:
— TP P27 (x,00 97 pa1me) NI 990 )2 PH92T AVYP M

However there is a difficulty with this explanation for in 779172y 9710 32 P92

the X773 infers from this phrase of X"X Dwn M5y P2 -
— )90 INNR MY 23972 PPaNT

That we follow the majority even in capital cases -
— WP NY 9907 RPN NON 1099N RIAYT WINSI 391 NN 199N XY ONT

For if we do not follow the majority then why do we say that 7%y Pa»n
X"X 01wn, we should be concerned that perhaps this 710p is an n°17%»x and

the husband had no intention of being w7p» her under these circumstances.
This concludes the citation of the &723.

Mmoo continues with his question:
— D2 RY "INT NNYINR 91999 197 MN NP DI NYYY N2 ONNT 11’5 XYM

And now since according to mooIn explanation the phrase of %y Parm
X"R own is referring to the case of @3 79y X2 o the X3 should have

asked ‘22 X% X277 RnYTR’ and not w*Tp XY *3777 XNYX, since we are discussing the
case of 212> where there is no PY17°p, only 7X°22 012°?!

mMooIN anticipates a possible solution and rejects it:
- 12\')"1‘,7 ND 9917 RNYINRT 9IRP 91D IND NNY PANT PUYITPNT X125 999

And if you will say that we are referring to the 217°p of the deceased
brother (the original husband of the 72°) and therefore the X i said

WITRP RY 92777 RNYTN. Moon rejects this answer -
— WTD 97T RAYTN IT9ON N NP3 SNN PROWN)

For now what difference is there whether ¥>7p %277 XnyIR or not; even if
WTIP 9T RNYIR (even if she is an MNHR) -
— YIN NUN DIVN D220 INNN 799915 281 01PN Yan
Nevertheless the X723 can still ask why there is a 2177 of X'"'X -
— PNYNY VY9 19N YN s oraam) 29N9T NI DI NI IND MINYN N

" An n°n9»x is a woman who can bear no children. We cannot be aware by a mivp if she will turn out to be
an N°117»X. Most women however are not N 17”X.

12 The question is; if we do not follow the 217 then the initial 7w17°p are not valid, for the original husband
never intended to marry an n°17»X, therefore she is not 012°7 7pp1. [The 1782 of the 02° was 012’ ow“ (which
is non-existent) and not 1w17°p owY, so therefore she is not an X"X. Alternately the 02> also is not wTp» her
3717 RDYIXR.]

" Now that the issue is whether she is a 212> N2 (as opposed to the originals question; whether the 02 had
intent to be 713 her as a wife (if she is an n°179>°X). See ‘Thinking it over’ # 1.

'3 p109. The 109 reads: a1 720 WX 227 77 indicating that the 72’ is a child bearing woman.
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Since an n 179" R is not eligible for 212 as the 770 writes 790 2wN (which
she will give birth to), this excludes an N 17%"X who cannot give birth.

N1B0IN answers:
— YN NUN DIV 199Y 1P2NT WI9Y NN 95

Therefore it appears that the proper explanation is that the phrase y%2%n

RN 28 7Oy -
—IND N1YYT UIN NYUNN 1°2 D29 7°DY N2 ONN )2

Refers to both 225 7795 X2 2R and also to a regular @R NWR (not necessarily
a oY) -

— 0% 7YY N2 ONN 2193 NPT M7 WITINY
However the novelty is that "X 0wn 7% 120 refers also to 9%y N2 aN

oas -
— 199910 NN RY D10 NYIYN DN /N NUY N2 ONT NOIONT

Since from the X2° which states NP7 192 'R 9P X2 2N, etc. we would

not have known that by a mvpn v 8277 02° there is a X"X 2177 -
— YIN NYUN RPIT NIN y0nvn XY NONHnT

Because that statement would only indicate an X" X but not an *02° nwx -
— ®YIN NUN DIYN 1P2NNT RNN 7599 OND

And there in 177710 he proves that 2177 91X 12717 from the fact that 52%n
N'"'N 2w,

mooin offers an alternate explanation why the 7awn states X"R 2w 7°9¥ 1°270:
— YN NUN DIYN NDY 122590 25919 THI0RT NN 17 19929 29

And 717 2" answered that it is necessary to state R''N 2w 79y 122 -
— 9119 99189 NP IY DINMINT NDYDT )IIWNIUNY

To teach us that the X250 when it states 777> ¥ 2°n212 it means to say -
— NNINAN DT DY NHIINI NYNRN DY NN NN ONX NNNAN GNT
That even by a i%m3; if the 7272 was 782 on this WX (who is '3 n2) the

sn2 would be killed because of her -

— N7 5Y DONNMINNT NN NIN 2N N INT
For if it would only state ;77° ®» 2302 and it would not state previously P2»m

R'"K QW 7Y -
— ND 1191020 YAN YWIN NYUNRT NINIT NHIY NPT 13991 RINHN MN

'> mooin previously explained that we might assume that a 730p7 %9 X277 02° is not 7P just as a v 12 is not
1p. See footnote # 9.

' The question there is not (necessarily) in the case of a 02, but rather by a regular marriage with a 7vp.
Therefore the X713 can say w>7p X? *2777 XnyR. See “Thinking it over’ # 2.
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I would have said that only ny7y which are similar to "X are 5y o>nmn

77°, but not a 7T -
— YIN DYN DIVN DYy 122N RYr92 NINT XRHYN S5an

However now that it was taught in the X@>1 that X"'X 2w 7755 9297 -
— YN 1IIMYUN N7 DY DINNIN NPT XD )9 DN

Therefore the X2°® which states 777> »» a’n»1» must teach us a novelty;

and that novelty is -
0913 19299NK NDNAN 19D YWIN NYND 19199 DT N9 )N INT

that even those nyy which are not similar to X'"R, as a I,
nevertheless, the ruling is that they will be killed.

<[2,772 997730 NIBOINY 2,71 NN NIBOIN TV PO

SUMMARY

The ruling of R"X Dwn %y 1°2»m refers to both a regular X"X and an X"X
from a 02°. The novelty is from X"X of a 02°. Alternately once it says 7°2m
R"R D1wn 7% there must be an additional novelty in 77> 9% 0@ nvaws 22, It
teaches us that even a 7nm2 is 77° %y PR,

THINKING IT OVER

1. m»dOIN states that if wW*7p R? 277 XNYIR is referring to NAY 1R *W17°p, then
why does the X773 say W>Tp X? "7 RNYIR, even if W>Tp 2277 XNYTX, there is no
211 of R"X since there is no 212°, for she may be an n°11%*°X. Seemingly this
same question can be asked if we maintain that w>7p X2 °2777 XnyIX refers to
the 02°. Even if w72 277 XnYIX there is no X"X since she may be an
mnox!!

2. Mmoo concludes that R"X Dwn 79 Pa»m is referring both to 012° and
regular PY1°P. When the X3 in PITMI0 asks W 7P KD 277 RDYIX it is
referring to regular case of X"X.'® Seemingly the &7»3 should have asked
from the case of 012° for there she will not be considered an X"X even if
02 *3717 RNYTX, since an MPN9™X is 012° 2wy 2!

17 See »xn xnwm 7"x2 772 "M
18 See footnote # 16.
19 See onm "2 "7 2"
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